

MORIAH COLLEGE

Year 11

Mathematics Extension 1

Preliminary Examination September 2015

Time Allowed: 90 minutes

Reading Time: 5 minutes

Examiner: J.Cohen, L.Bornstein, G. Lang

General Instructions

- Write using blue or black pen.
- Board-approved calculators may be used.
- All necessary working should be shown in every question.
- Start each question on a separate sheet.

Name

MULTIPLE CHOICE GRID

5 marks

1.	Α	В	С	D
2.	Α	В	С	D
3.	Α	В	С	D
4.	А	В	С	D
5.	Α	В	С	D

Multiple choice (1 mark each)

1. Evaluate $\lim_{x \to \infty} \frac{3x^2 - 2x + 1}{2x^2 + x - 1}.$

(A)
$$\frac{3}{2}$$
 (B) $\frac{2}{3}$ (C) 1 (D) 0

- - 4. If $4x^2 + 3x 5 \equiv Ax(x+1) + B(x+1) + C$, the value of *B* is:

5. Which of the following divides the line segment from A(4, 3) to B(-8,5) externally in the ratio 3:1?

(A)
$$(-7, \frac{9}{2})$$
 (B) $(16, -9)$ (C) $(10, -7)$ (D) $(-14, 9)$

Question 6 (start each question on a new page) (15 marks)

a) Solve
$$\frac{4}{x+2} \ge \frac{1}{x}$$
 3

b) If one root of the equation $x^2 - mx + 2 = 0$ is double the other, find the value(s) of m.

c) If
$$x = 3 - t$$
 and $y = 2t + 1$, find the Cartesian equation of the curve.

d) If α , β are the roots of $2x^2 - 13x + 9 = 0$,

find the value of :

i)
$$(a+1)(b+1)$$
 2

ii)
$$\frac{\alpha}{\beta} + \frac{\beta}{\alpha}$$
 2

e) Solve the equation :

$$\tan^2 x - 3\sec x + 3 = 0$$
 for $0 \le x \le 360^\circ$ 4

2

2



Question 8 (start each question on a new page) (15 marks)

a) Consider the graph
$$y = \frac{x^2}{1 - x^2}$$

i) Find the stationary point(s) and their nature
ii) Find the equation of the horizontal and vertical asymptotes
iii) Sketch the graph.
b) Prove by mathematical induction that for all integers, $n^{-3} 1$ that
 $3 \cdot 2^2 + 3^2 \cdot 2^3 + 3^3 \cdot 2^4 + ... + 3^n \cdot 2^{n+1} = \frac{12}{5}(6^n - 1)$
4

c) Solve for x:

$$(x^2 + 2x)^2 = 14x^2 + 28x + 15$$

END OF TEST



Bomins 411 34 2015 prelin. la. A b. F'(x) >0 increasing F''(x) >0, concave up O, c. $A = (4)^2 - 4(1)(-3)$ = 16+12 = 28>0 (A). $J \cdot 4x^2 + 3x - 5 \equiv Ax^2 + Ax + Bx + B + C.$ $\begin{array}{c|c} A = A & 3 = A + B \\ 3 = A + B \end{array}$ $-1 = \beta$ (B) A(4,-3) B(-8,5) 3--1 e. x = -4 - 24, y = 3 + 15 $\alpha = -14 \quad ; y = 9.$

#6a + > = consider $\frac{4}{x+a} = \frac{1}{x}$ x = +0 $x \neq -a$ 4x = x+2 3x = 3x = 30-0 B. -2 +>-10 = 3 -a x a xo x > 3 b. x - mx + 2 = 0. roots: 2, 22 roots: $\alpha_1 \alpha \alpha$ sum: $\alpha \pm 2\alpha = -b$ ped: $(\alpha)(2\alpha) = c$ $3\alpha = m \cdot - -(2)$ $a\alpha^2 = 2$ $\alpha^2 = 1$ $\alpha = \pm 1 - 0$ $3(\pm 1) = m$ m= ± 3 y= ab-+1 -a x = 3 - b0. $t = 3 - \alpha - 0$ Subst @ in D. 2. y=a(3-x)+1y=b-ax+1y=7-ax

d). 2x° - 13x + 9=0 $\alpha + \beta = -b_q = 13$ $\alpha \beta = \zeta = \frac{1}{2}$ ii). at B Bt a i) (2+1)(B+1) = xB+ x+B+1 $= \frac{\alpha^2 + \beta^2}{\alpha\beta}$ = - + 13 +1 = 12 / $= \frac{(\alpha + \beta)^2 - \alpha \alpha \beta}{\alpha \beta}$ $= (\underline{13})^2 - 2(\underline{3})$ H. = 133 . ton 2x+1 = Secox e) tan a - 3 see x + 3 = 0. . Sec³x-1-3 secx + 3=0. sec°a - 3 sec x + 2 = 0 √ (seea - 2) seca - 1) = 0 Secx = 2 | secx = 1 (05x = 2) (05x = 1 conx = 1 rel x = 60' a = 0', 360' cons is +Ist ath. $x = 60^{\circ}$ $x = 300^{\circ}$

#Ta, Kxa - (sk+1)x+9k a>0 for pos def AKO. A=(-(5k+1))²- 4(K)(9K) ~0√ 25K²+10K+1-36K² ~0. K>0. -1112+101+1 ×0 $11k^{2} - 10k - 1 > 0$ (11K+1)K-1) >0 $k = -\frac{1}{11}$, k = 13. and t>0. · K> I V $y^{2} = 8x + 2y + 7$ $y^{2} - 2y + (1)^{2} = 8x + 7 + (1)^{2}$ $(y - 1)^{2} = 8x + 8$ 6. $a^{2} = 8(x+1)$ $a^{2} = 4(a)(x+1)$ (-1, 1)q = 2focus · (-1,1) (1,1)directti K a=-3. 0 at x = 1(1,5) or (1,-3) . $(y-1)^{2} = 16$ $y-1 = \pm 4$ $y=1\pm 4$

0). P. 01. 59 y=Ha xint. 51 y = F(hx).d) $y = \frac{1}{4}$ m(ton) = $\frac{1}{4}$ an aa 9 at a = dap. $m(ton) = \frac{\partial ap}{\partial ap} = p$ eq. of tongart: $y - ap^{2} = p(x - \partial ap)$ $y - ap^2 = px - 2ap^2$ $y = px - ap^2$. $\therefore eq. at Q: y = qx - aq^2$. -(3) , px-ap=qx-aq2 a $p_{x} - q_{x} = ap^{2} - aq^{2}$ x(p-q) = a(p-q)(p+q)a= a(p+q) - A Subst (1) in (1) y=ap(p+q) - ap2 y= apat apg - apa = orpq. (ptg), apq. a



() $\frac{486}{3xa^{2}} + 3^{2}xa^{3} + 3^{3}xa^{4} + \cdots + 3^{3}xa^{1}}{= \frac{12}{5}(6^{5}-1)}$ prove true for n=1. $HS: 3Xa^2$ PHS = 12 Ia(6'-1) = Ia(5) = 1a: true for n=1. assume true to n=k. $3xa^{2} + 3^{2}xa^{3} + \dots + 3 \cdot a^{k+1} = 12(b^{k}-1)$ prove the for $n = k \pm 1$. We want to prove: $3xa^2 + 3xa^3 \pm \dots \pm 3 \cdot a + 3 \cdot a$ by assumption. $= 12(6^{k\pm 1} - 1)$ $12(6^{k} - 1) + 3.2$ $= \frac{12}{5} (6^{k} - 1) + 3^{k} \cdot 3^{l} \cdot 2^{k} \cdot 3^{l}$ $= 12(6^{k} - 1) + 6^{k} \cdot 12.$ $= \frac{12.6^{k}}{5} - \frac{12}{5} + 12.6^{k}$ = 12.6K - 12+ 12.5.6K 4' $= 12(6^{k} - 1 + 5.6^{k})$ $= \frac{12}{7} \left(6.6 - 1 \right)$ $= \frac{12}{6} \left(\frac{k+1}{-1} \right) = \frac{RNS}{p}.$

8c). $(x^{2} + 2x)^{2} = 14x^{2} + 28x + 15$ $(x^{2} + 2x)^{2} = 14(x^{2} + 2x) + 15$ let $x^{2} + 2x = k$ 12= 14K+15 $k^{2} - 14k - 15 = 0$ (k-15)(k+1)=0 k=15, | k=-1. V $x^{2}+2x=15 | x^{2}+2x=-1$ x = -5, 3 x = -5, 3 x = -5, 3 x = -1 x = -1D,